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4. (10pts.) Asimple pendulum is composed of a bob of mass 0.4 kg at the end of a rod
of length L. The period of oscillation of the pendulum is 2.24s.What is the length of the
pendulum?

5. (20 pts.) Considera particle attached to a horizontal spring undergoing simple
harmonic motion of amplitudeA and frequency f . The relaxed position of the spring is
at the origin.

a. (10pts.) Atwhat positions will the kinetic and potential energies be equal?

b. (10 pts.) At what positions will the particle have a speed equal to 1/2 of the
maximum speed?
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4. (10 pts.) A simple pendulum is composed of a bob of mass 0.4 kg at the end of a rod 
of length L. The period of oscillation of the pendulum is 2.24s. What is the length of the 
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5. (20 pts.) Consider a particle attached to a horizontal spring undergoing simple har­
monic motion of amplitude A and frequency f. The relaxed position of the spring is at 
the origin. 
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a. (1 0 pts.) At what positions will the kinetic and ..._ potential energies be equal? 

b. (10 pts.) At what positions will the particle have a speed equal to 1/2 of the maxi­
mum speed? 
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